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MCA TEST SERIES-0. solution

Answer with Explanations

[cos® -sine 0]
1. (b) Given, A=|sin® cos® 0
0 0 1

As we know that, A-A™' =/

[cose -sinB 0} cos® sine 0] [1 0 O
sin@ cos® Ol -sin® cos8 0|=[0 1 0]
o o 1o o 1] [oo 1]

[cose sine 0]
= |-sin@ cosO O0|isthe inverse of 4
0 - 0 1

2. (d) Given system of equation is
X+2y+3z=1x-y+dz=0zgCc2x+y+72=1

1 2 3| 12 3
= |1 -1 4|=D D=0 - &
2 1 7 1T % 7

T 1 3 12 1

D;='1 0 4jandDz=1|1 -1 0

2 17| 11
Here. D=2Di=D,=D5=0

. The system has infinitely many solutions.

1 log,y log, z

3. ia) iog, x 1 log, z
-log; x log,y 1

logx logy logz

logx logx logx
log, x log,y 08,2} 11505 Jogy logz
gy & Wy 08 Zis Lo By Toay
—log; x log: y 10g: 2| |50y logy logz

logz logz logz
logx logy logz!

logx logy !ogzI
—-logx logy 1ogz|

1
B log xlog ylog z

1
=X
log xlog ylog z

4, (b) Equation of circle through (0, 0) is
X2+ y?+2gx+2fy =0

Its radius is yg® + . [C=0]
=% JoZ+ P =J1-gP +1?

@2 +f3)=1-2g+g%+f* [~ (1,0 liesonit)
1
= =
2
Alsc potr creles touch each other.

» Distarce between centres=r + 1
N -\gz+1‘2=3+\fgz+f2

~ z 2__
= —2ygi+ <=3

2 §2=§
g+ 2
9 1 1
S | g o= —
= 23 t-g=7l
= f2=§=
4
= f=t2 = f=-2

Hence, centre is

¥ .
-t

EI 'Vré].

. (b) Let PA and PB be two perpendicular tangents from

P(h, k)to the circle x® + y? = &%, then

ZAPO = 45°
x2 + yQ = az
A

LAPO = 45°

=% tan 45° = 96
PA

a
=» 1=
;}hz Fk* =gt
[- OA = radius of the circle and PA = length of tangent]
= h? + k? —a° =a*
= h? + k? =24°

The locus is X2 + y? =2a°.

« D) (X2 + y* —Bx ~By + A)+ A(—4x -2y + )=0

X2+ y? =2x(3+20)-2y(3+ L)+ (4+ A)=0
Centre =(3+2X,3+ %)

r=yJB+202+(@+ AP -(4+1) =0
=9+ 47 +12L + 9+ 6L+ A2 -4-A =0
= 50 + 170 + 14=0
502 + 10AL +7A + 14=0

(BA+7)(A +2)=0

A= -2 -7/5

.~ Limiting points are (-11) and (3-%,3— 7/5) or (-1, 1)

and (1/6, 8/5).

L4y

. (¢) The two given circles are x* + y® + 2gx +2fy +¢, =0

and x2 + y2 4 2g,x + 26y +C, =0.
Let the required circle be x? + y? + 2gx + 2fy +¢ = 0.
2gx +2hy +¢c,=0
2g,x +2hy +¢, =0

Visit At : www.guptaclasses.com
® H.0. : Utsav Complex, Ist Floor, Nas College Road, Meerut @ Center-11. Star Plaza, Ist Floor, Baccha Park, Meerut
® Center-1. Agarsen Plaza, Nai Sadak, Garh Road, Meerut eCenter-111. Najibabad Road, Near Shakti Chowk, Bijnor 1




GUPTA
A PREMIER INSTITUTE FOR MBA-CAT/MCA/BANK P.O/SSC & NDA-CDS

2gg, +2ff, =C,+C (i) On putting y, = 4in y® =8x, wege: « =
and 299, +2ff; =€, +C D) Hence. point is (2, 4).
[Since, the circle is orthogonal] : ‘ ' X2 °
= " i t ti the eilip B T L
On subtracting Eg. (i) from Eq. (i), we get 12. (a) Let the equation of the eilipse be 2 b
2g(g; - 9,) + 2flh - f)=cy —C» Then, 24 =6b
Hence, locus of required circle is radical axis of the given n b_1
circles. a 3
8. (c) Obviously, the rolling circle describes a circle concentric = b 2 o 1
with the given circle and radius increases by 2. €= V&) "V e
So, equation of circle will be 2
X’ +y?+3x-6y-31=0 =5
. 2 :
9. (d}Onpuningxz%in4x-3y+4=D.weget = ezgg
ax¥_3y+4=0 f B
8 13. (b)CP and CD are semi-conjugate diameters of — ? =
2 .
= e Obviously, CP? + CD? = a° + b*
= y=42 X2y
16 n— =1, we get
i xﬂ_s_ ) 14. (c)Onputtingy=mx +c i 7 +b g
‘ 4 1 (@m? + b2 + 2a’cmx + a2 -b%)=0 ...(0)
X=—==
- 8 2 ; 4 x, o28Com
24 1 " 17T 4 b2
. 5
Mid-pointis x = 2.2 a’c? - b?)
2 4 and Xy Xo = O
442 am-+b
= e————— T 3
= / 2 (% — X2}2 =(x + ?‘2)2 — 4xXz
5 4a%c®m®  4a%?-b?)
Hence, X, =[— 3] = -
el 4 @m® + bz) a’m? + b®
10. (d) LetP (hk) 4a2b2(a 2 4 22 c?)
. Equation of polar, yk =2a(x + h) touches (8°m? + b*f
e 2\4a%b%(@°m? + b? -
x= = 4by Length of chord = f gt (@ - c?)
= 4b'?a(x+h) \ (@®m® + b?%)

So, &®m? 2¢? - b for real points.
= Kx’-8abx-8abh=0

15, (a) Equations of the curve are
Here, _ D=0 (

55 x = a (cosh® + sinhg) vl

Sl =Rk G-Oannp= and y = b(cos 6 - sinhe) )
= 32abfeab + hk]=0 On multiplying Egs. (i) and (i), we get
Bigemeill X - cosh®® -sinh
= xy =-2ab
Hence, locus is rectangular hyperbola. it % = [0S h29 —sinh?8 = 1

a
11, o)x+y=6 | 2 . Pt i
tion SE OB IRY e B _ Which is reetangular hyperbola.

We know that the equation of normal to y? = 4axis 2\

; Y
16. (c) Elli sens—+——=1
| el V1="—‘(X X;) (c) Ellip 16 b?

Y nd hyperbola |si2-—ﬁ-l
- 0P8, Gy AARIYE 144 81 25
2a . :
X Y
-¥

s - =
= -*'-4-*'— 1 ['a 2] [E]E (
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Foci coincide
2
2
= hyperbela
-7 fE] e
= Jé -
Also, ¢ =& - b’ =16 b2 [ellipse]
= @2 =16-b°
= b2 =7 '
17. (a) We know that the equation of tangent o the nyperbola
2 2
i——-;?ﬂarey:i xt & -b%
a
As tangent is parallel to y = x.
. Slopeis 1.
= Equationisy =x - y3-2
y=X+ 1
x-y+1=0
18, (b) Focusis (4. 0)and e -§

We know that, ¢ = ya® -b% =4

Now, 5=V1_[.

= b’ =9

a® =25and b? =9

- 2

e XTI
. Equation is — + — =1,
4 %9

19. (d) f(x)=log,log X
_loge|log X f.._ log, b=
log, x l
_log (log x)
" log x

I
= f= 28002

log, bl
loge aJ

log xx1/log xxl—iog(iog X)X —
f(x)= X

(log xy*
1 _log(log x)
= e IS S,
(log x)?
1 _loglioge) ;
Now, f'le)== e =e(20= &
oge) {1

20. b)y=x+e”
On aifferentiating w.r.t. y, we get

dx x O
1=—+ef—
dy oy
= 9"’-=(1+ﬁ‘x)'.I
dy
O'EX X2 X dx
= —=—(1+e*)* -e"-—
& &
2
= %=~e"(?+e")'3

21. () x J1+y+ y,/1+x =0

= xJl+y=-yJ1+x
= 21+ y)=y (14 x)
= X2+ X%y =y +xy?
= (< =y*)=xy(y-x) [y
= (x+y)=-x
X
~ y“‘1+x
_|Qtx)= x] -1
dx A+ xP | (+xP
1+ sinx
22. Lety =I
(@) Lety =log 1-sin x
= = % [log (1+sin x)—log (1-sin x)]
= d—y=1r——1f—vcosx+ 1, COoS X
ax 2l1+smx 1-sinx J
1fcosx COS X Sin X + COS X + COS X sin X
2 1-sin® x
_1 [2cos x]
2[ cos xJ
=5Sec x
23. (d)x=a [cosr + log tan —} and y =asint

]

= c-f)i=a -sint + 7 sec? 2 anddy =acost
. 2tan -
2
ay _ acost cost
dx T 1
ol 14tan2 L -sint + —
a'~sinr+—2 e
2tan—
2
_sint-cost _sint -cost
1-sin’t  cos’t
=tant

24. (c) Slope of tangent to y = x? at (1, 1),

(g)m = @), =2=m [say]
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. Slope of tangent to the curve
1 4 .
=7-—=x"at (1,1,
y 5 M1

dy = _"1' 2 -_'—1=
[E)m_( 5% ]m 5 =M [sy]

;S m1>(m2=-1

. Angle of intersection is g
7 Given curveis y —e™¥ + x =0.

“nen, slope of the tangent to the curve y = x+ e at the
ooint (@, b)is given by

ay [ ay |
Y 14e” ke
e +e I_y + X de
dy Xy x
~(1-xe¥)=1+y-e
= 05(( ) y
9}1} 1+ b-e®
E (dx cea 1-a-e¥®
The tangent is vertical, iff 1-ae® =0
a 1
L e = -
a
= a=landb=0
%. (c)Given, y =x> -12x
¥ _ 312
ax
For maxima and minima,
¥ _o
o
= 3x?~12=0
= x=2-2 2€[03]
d?y & o
— - =Bx=6x2=12, which is positive.
ax?
Hence, the minimum value of y =2)° - 12 x2
=8-24
=-16
7. {b) Given,
u=x% + y2z + 2°x
gu--=2>(y-|~ 4 ()
ax
ou 2 i
—=2yz+ X (1]}
ay
ou 2
— =2ZX+ Y ... iif)
0z
On adding Egs. (i), (ii) and (iii}, we get
du du au
P i s
ox oy oz

=x2+ y2+ 2% +2xy +2yz + 22X

=(X+y+ 2)2

28, {a)I e* E ~£—2~]as<

:e"xl-i-C
X

Fe j e  [f ()+ F (X)]dx=€" fix =

-1
29. (o)Let /=], o
On putting tan™' x =u
= | 5 aX =du
1+ x

When x =0,thenu =0
When x=1thenu=n/4

; =j:" *u-du
quTm
“|z)
&P
T2x16
5
32
30. (¢ Y
4 x2+y2=4\{"%
f B
2 0° g
| ijlﬁ X
Y’
On puﬂingy:%in x? + y? = 4 we get
2
x2+%—=4
= 4x2 =12
= x=i~f§
. _ V3 X I
Required area = |_ Jﬁdxdrj'ﬁ J4- xPax
73
:—1—,--)—(:?- + v4-— - ;
%z, 7L
=—J—§-3}—'§~+2 sin“11—3in'1~E =
v o2 2 2
t dx
il j01+x
Given, =2
-
2
Xa =0,
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dz
! e ——-1=cos z
X . V=g Now., =
1 — %=1+COSZ
X2—1 yg:E ax
1
= dz =dx
Now 1£X—1hrl{YG+Y2]+Y- 1+cos z
01+ x [2 J ’
171 1 2] = — [ sec? dz—jdx
Tl ). B
2l2\'"2) 7 3] :
° 1 an‘é-
..l[-g_é = 2 71 =X+C
“2la” 3] 5
* '9—8] 2\
= —Xx | =
= t 12 = 1an(2J x+C
=£ tan(x+Y)=x+C
24 2

32. (c) Obviously. cune ¢ degree is 2.

. 'r__ f’_
33. (b) Given.u =sin” (\x \,y}

36. (0) Given equation of line is ax + by =1.
On differentiating w.r.t. x, we get

vx+ Ay a+b¥ =
ax
B ! G(M] d _a
) ey > &5

\j1 _..-.__——(‘[’? e {18 &
Wx + 4y

1
Wi R
vx2fy  Wx+yy
g Jy
2V W + )
x

Again, on differentiating, %éi =0

2
9 _o
ax?

) 37. (o) Given differential equation is

(x + y)dx + xdy =0

" dy
Similarly,u, = ...(II) — X+y=~X—=-
Wy = o WX + ) 1 o
On dividing Eq. (i) by Eq. (i), we get L = S
' u, Y ox X 1
iy X F=e)x™ —g90x = x
Uy "%'Uy Then, the solution is
y-x=J-x-dx+C
34. (c) Given, .
dy _3e®* +3e™ o i 4
ax e*+e™* 2
x? +2xy=C

- (ezx +ed=t}_ex

dx
&% 41

38. (a) Given differential equation is

E*+ 6% . ax -ﬂ-—-x—J‘
=Gj—e-§x—rdx—3je dx Yy s
y:es"-g-C = y dy =(x —1)dx
= ydy = | (x —1adx
35. (b) Giver %=cos(x+y) j '[ )
™ . Y- .
Onputtingx+y=2 2 2
HQ__OE Whenx=1y=1
- o & = 1=C
dy _9z _ Therefore, the solution is
= n‘v_r"fy :

v =2 _ Dy 4D
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Wy 2 2 43
N—+—-y=3
o XV Xy
y.4,raﬂ+gy1 43 gy2
dx  x
_aizdy 2 5
- andy 2 U3 _ g2
y e XV
y 3=
— ___1_ _A’;a(‘jl;_.(j_%.
3 ox dx
3gz 2 %
= ———Z= 3
ax X
dz 2 o
= ———7=—X
ox  3x
J—2
IF=¢ 3x
2095
=g
=eiog{x] -2/3
=(xj-'£.|’3

. 'b) Given differential equation is

dy

X+y+1)==e*/
(x+y }dx

(x+ y)dy+dy=(@"")x
e’[(x + y)ldy +e'dy =e "dx
_[d[x + yleY zje”dx

b U 1

(x+ye’ =e*+C

1. (¢ J1+ xE-dy+J1+ye-dx:0

o __J1*y°

= &t
ax 1+ x2

1 1
= dy=—‘ —,:-*—:*-:O‘X
‘[m j\j1+x2
= log [y + {1+ y?]==log [x + y/1+ x? ]+ log C
= log (y + {1+ y?) (x + {14+ x%)=logC

(y +41+ v2) (x + \,'1-9- x*)=C
ay ay
2: ek =i
Tl (a) a(xdx +2y)= Xy o
dy dy

= ax —42ay=xy —
ax ¥ J',dx

dy
-ax)— =2
= (xy Yo =2y

= Xy ~a)% =2ay

ek

1 a 1
i Jomatit =| -
= 2aj ( y] xdx
1

= —(y - alo =log x+C
% (y gy) =log x +

43,

44,

45

46.

47.

2
- Yy logy logx®  logC
2a 2 2 2
=5 L 4logC=log x? +log y
a
118
J/J‘;Czlogyx2 = ' =¢ 2
(b) Given, (x sin X]o‘yz{y sinz—-x]o‘x
: X X
.
y-sin < - x
- 2 I
ax x-sin
X
Put y=vx = £:r}i:v+xc—w~, we get
ax ax
av  vx.sinv-x
Ve X — = o —
ax Xsinv
_vysinv-1
sinv
I _v-sinv-1-vsinv _ 1
ax sinv sinv
jsinv-o‘v:—jl-dx
X
= -cosv=-logx-C

cos{—zlog:xuc

(bYuy, 3 -5U,, ,=2%

On putting x = 0, we get order of given differential equation
is 3.

@ Uy o=Tu,, 1+10u, =12(4%)

The associated homogeneous equation is

Uyen =Tlyeq +10u, =0

Two solutions of this equation are 5° and 2*.

These are linearly independent.

To find a solution of the original equation we can guess that
it takes the formu} = a4”

Inorder for uy to be a solution, we need

ad* 2 -7xax4* ' +10xax4* =12(4")

= 16a4” - 28a4" + 10a4* = 12(4%)

=% 16a-28a+ 10a=12
= -2a=12
= =-6
Thus,uy =-6-4"isa solution.

We conclude that $he general solution of the equation is
uy, =C2" +C,5" - 6.4

(*) None of the option is correct
@

(@) Given, e = x*

Taking log on both sides, we get

dy

—=xlog x
ax H
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= J1o§r =I x-log x-0x . . 4x3x - 4x5x 20
X
2 2 e
= y:i.k)gx_ ._x_..l,dx 10 20
= 2% ' =16kmh
1
=f2_.logx-§fxdx 54, (c) We know that, SD = /Z| x - X|
_ x2 : X2 . is unchanged with the change of origin.
=g egReT .. SDofax+bis|a|oc.
2
y= i_(bg X — l) +C 55. (d) We know that, mode is measure of central tendency r
2 2 the measure of dispersion,
48. (c) Slope of the tangent at (x, y) to a curve s —[ e 3]_ 56. (b) Karl Pearson's coefficient of skewness
X+2 . Mean - Mode
dy y+3 Standard deviation
" E‘h[ 2 396 - Mode
2 Xkey = 032=—-—7—
" ’ 6.5
= j'y+ady=—fxq_2dx = Mode = 396 -2.08
= 37562
| j=-log(x +2)+logC
= ogly+ 3 Sglxrelriog *» Mode =3 Median - 2 Mean
= Ad e = 37.52 = 3Median -2x 396
= 0, ke =0 =5 3Median = 37.52 + 79.2
= = . - 3Median =116.72
= 3=§ = I\ﬂeclian:”ﬁ'?2
= e = 38906
.. The equation of the curve is :
6 =3891
y+am (x +2) 57. (c) We know that,
2 2
= (x+2)(y + =6 vananceiiu(ii‘.}
= Xy +3x+2y+6=6 i A
2
3x+2y+xy=0 . =1§_9_(1g]

49, (c) We know that probability of an event A in a random 10 10
experiment is always greater than or equal to 0 and less =1.69-1.44=0.25
than or equal to 1 :
ie. 0< P(A) <1 58. (d) We know that,

50. (c) It is quite obvious that probability of occurring exactly Mean s
oneof Aand Bis P(Au B)-P(A N B). Variance =npq

51. (c) One letter (vowel) can be selected from A, O, I, | in L 28”‘3' e ‘22 1
4 ways. = qzﬁandp: ,,5_—,5
One letter out of 11 letters of ‘PROBABILITY" can be
selected in 11 ways. = n=9 .
~. P (of the letter being vowel) =% - Binomial distribution is (% + -%J :

52. (a) There are 10 prime numbers between 1 and 30. 59, (b) We know that,

Hence, P(of the number being prime) = % ::% T L
plx, y)= ——1

53. (b) : 52 EX) _J}:yz s

A x ¢ ax B n n
Given, X=5and y=6
Let AC = x km and BC = 3x km A=T10
’ X ; 3x = il
Time taken by A = T and time taken by B = % iS:H_x — _znz -
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m“zm:y
[ s n n2
= px.y) JVariance of x - {/Variance of y
350 50x60
_ 10 100 _35-30_5
T Ja49 2x3 6
) X 0 1 2 3
y 1 0 1 10
_ (x-Hx-2)(x-3 ()
T (0-1)(0-2)(0-3)
(x - 0)(x —2)(x =3)
Y a-0d-2)0-9) ')
(x =0)(x =1)(x-23) ()
@-0)2-12-3
(x =0)(x = N(x - 2)><(10)
(3-0)(3-1)(3-2)
_ (x—1){x2—5x+6)+ x(x? - 4x + 3)
N -6 -2
' 10x{x2 - 3x +2)
6
[ x®—6x2+11x -6+ 3x3 =12x2 + 9x - 10x° |
+ 30x% -20x
‘"’ J
[ -6x® +12x -6]_ 6x*-12x*+6
[ 3 6
— 2% +1

NOw, y(4)=43 ~2(4F +1
=64-32+1=65-32=33

i)
. x? X
X Yi i i¥i
1 0 0
0
1.8 1 18
1
3.3 4 6.6
2
45 9 135
3
6.3 16 25.2
4
10 16.9 30 471

_(nZxy)-(Zx Zy)
(nZx?) - (Zx,)

_5x471-10x16.9
5% 30 — (10

62.

63.

64.

65.
66.
67.
68.
69.

70.

71,
72.

73.
74.

75.

_ 235.5-169
~ 150-100
_865
50
665
"5
=133
{Zx Y&yi) = (Ex ) EXy;)
ane nExP)-@x
_ 30x169-10x471
"~ 5x30-(107
_ 507 - 471
" 150-100
0 unao
50
Hence, the best fit straight line is given as
y=133x +0.72
B P(AnB) PAuUBY
“ P(TJJ_ P(A)  P(AY
_1-P(AUB) _1-[P(A)+ P(B)-P(AnB)]
T O1-PA) 1-P(A)
3 .1 1] 5
. T [8+§_EJ 5_3
1.3 5f8 5
8

(c) By property of poisson distribution, mean and variance
are equal.

(c) Set of instructions in a sequential manner telling the
computer what to do is called a program.

(b) ALU performs simple maths for CPU.

(c) Window is not a hardware of a computer.
(c) CPU is called the brain of the computer.
(b) WWW stands for world wide web.

(c) Software used to carry out this task is application
software.

(c) Arrow lock key is pressed to work as the directional
arrow.

(@) (237)s =(010 011 111),
(c) 1 gigabyte = 1000,000,000 bytes
(c) LOTUS is not a computer language.
(b)ABILITY t
7!

. Number of arrangements = E

=2520
(€) 73 — 41 + 2% = (737 — (412 -29%)
=73 - (41+ 29)(41-29)

=5329~70 x12
= 5329 - 840 = 4489
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58x 37x

76. (@) X _ 37X _ 399 1 21x = 39900
100 100
= x =1900
79% of x5 Lo X 1900 1508
100
77. (@ 6)4700(69
36
129)1100 : %
11617

78,

79.

80.
81.

82,

83.

84.

61 should be added.
(d) Let the cost of pens and
respectively.
10x + 12y =138

o= latat

pergids o2 Tk and Ty

=
n
-
Z
2

=Y
@
=

Q
©
@
=3
w
1)
e
(5%
(5]
n
3
)
i
(V§]
T
3

(D} 1t & Cear 0y cosenving the word.
(¢ :E—;i =7
= x =140
%of 140:%‘?x3= 30
(c} Let number of hens and cows be x and y respectively,

then

X+ y=43 ()
2X + 4y =142 - ()
On solving Egs. (i) and (i), we get x =15and y =28
Hence, number of hens is 15.

(c) Let the ages of Sita and Gita be 3x and 8x.

8x+7 9

=5 27X+ 63=32x+28
= hx =135

= Wi=T

Age of Gita = 8x 7 = 56 yr,
ic)LetA, B,C,DandEbex, x+2 x+4 x+6and (x + 8)

raspectively, then
X+ ix+2)+(Xx+4)+(x+6)+(x+8)

45
5
= 5x +20=225
= 5x =205
= x =41

wB=43and D =47, .BxD =43 x 47 =2021

85. (d) We know that,

o=#ir+ 55 -1

86.

87.

88.

89.

90.

5 2
-1~ B

el 0
400
(b) —E}E X =520
100
= x =800 y
(@) We know that,

X2 +y2 =(x + yF -2xy
= (20)° -2 x 84
=400 - 168 =232
Volume of cylindet
Volume of coin

45\?
291 %10
K(z]x

(c) Number of coins =

— = 2———--.—
n{l;—] x0.2
~4SX45X1—QQ
T 15x156° 2
=20
24
(c)For(a+ by, T, ="C;a"%-p° i
T13 =nC;2 an--i?_bm (ll]
We know that, "C, ="C, _,
= "Ciz="Cp-3
= n-3=12
n=15 ]
by LetS =1+2x + 3% + 4x + ...

XS _ x+2+ 30+
(1-x)S 1+ x+x°+ x>+ ..
=1+ 2 I == forntinite GP |
1=-x [ 1= J
"
1=x
1
B it
R
=5 [1+2x+3x2+4x3+.,.]”2=1_1_;=(1_x)-1
=1+ (=Nx+ 2 2, EVEDET),s
1.2 1:3.3
+ENE2EEY)
1.2.3.4

. Coefficient of x* =1
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11 1 1 ]
1 ! =1-2|=-—=+-—=+...
2 z(_1)k‘nck=—nc1+n02"‘nC3+nC4 '—...{—1)nr‘cn = X 1 2(2 3 4 5
11 1.1
=1+2(—‘+~——+~-...)
&2 know that, S FE 4
1= xf =1="Cpx + "Cox® = "Cax® + "Cox* .. -G, o st Doy 1)
Z- putting x =1, =y e* =g 2I00e 2-2
0=1-"C, + A, ~"Cy+ "Cy + <. =e“’ve‘°9522
= —1C, +7C, = "Cy + ..o l=1""C, =1 _4
e
& 2 |
ol )2 2 23 244 95. (b) In upper triangular matrix, the elements above main
mxent o WXL, b +3X L& +4X Ll diagonal are not all zero.
2 - - -
96. (d) We know that, (AB) '=B""-A""

:x+x2—%{x2+x“+2x3]+%[x3+x5+3x3(x+x2)1... o B T
97. (c) Given, LO 1]A=i.0 —1J

o3 411 1]
W lo 1]lo -1)7lo -1)

1
. Coefficient of x> =1+ 3

? 1 4
e Therefore, A={0 _1}
Hence, coefficient of x" is —.
" 1 3 X
. '<:)g+E LF 98. () Given,A=|1 1 x*|{=0
1120 3 4l 37 3
2 32 34 45 _ _
=1_1|2'+Z_W+E'+TL—+“‘ On applying C3 = C3 -C,,
anesd 18 x-1
-5 20D A=[1 1 x*-1|=0
=R 137 o0
A 13 1
= —_— —_
Z’w’” Z‘w”' = (x-njt 1 x+1|=0
ée 37 0
=2 +e
=3e T B
1 _1 1 1 =5 x-nl0 =2 XS =0
e e 0 -2 -
b @x=13"23734 25 y
1 (1 N (1 1) (1.1 = (x -N@x+6)=
= x=(1_5 _(5_5 +(§ Z}'(Z"E)J'“' x=1andx=-13
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